EASY AXIS MOUNT
INTERFACE

DO NOT HANDLE

THIS AREA—\

4
4

I
1
1
1
1
1
1
)
\)
Y
\

A

ELECTRONICS/
INTERFACE

POSITION SENSOR
RECEIVER

2X POSITION SENSOR
TRANSMITTER

WITH MOUNT

Y/ROTATION-ADJUSTMENT £3m
3mm HEX KEY

TOP CORNER
Z-ADJUSTMENT £3mm
3mm HEX KEY

46\DJUSTMENT +3mm

3mm HEX KEY

BOTTOM CORNER
Z-ADJUSTMENT £3mm
3mm HEX KEY

TOP VIEW

STANDARD PANEL

DIMENSIONS
[47.71]
1211.7
ERO PANEL
DIMENSIONS
[47.73]
1212.4
Y
STANDARD PANEL
DIMENSIONS
[26.87]
682.5
ERO PANEL
DIMENSIONS
[26.90]
683.2
FRONT VIEW
STANDARD PANEL SHOWN
BOTTOM VIEW
6 5

WITHOUT MOUNT

STANDARD PANEL SHOWN

I | I —

\_A%.

_——
]

[3.30]
83.9
NOMINAL

‘A’ SEE TABLE

REVISION HISTORY

ECO | ZONE |REV.| DESCRIPTION | DATE | APPR'D

MINIMUM GAP TO CEILING

IAI
CONDITION mm in
SERVICE MODE 38 1.5
TOOL ACCESS 140 5.5
PANEL REMOVAL ONLY| 31 1.2
MINIMUM GAP 17 0.7

WITH MOUNT

ERO PANEL SHOWN

CEILING
SERVICE MODE

.
/////////%//////////////////%/////% - g

0 \ 1
T o DUE TO HOT AIR BUILD UP AT THE o

TOP OF AN INSTALLED ARRAY,

_N PLANS SHOULD BE MADE TO
ALLOW THIS AIR TO ESCAPE

EITHER OUT THE FRONT, BACK OR

CEILING WHERE SHOWN.

D)

LI_LI.E‘L/o
e L
C

ZON
(o
J)

oL ' _
[3.52] L\
89.3 70— o

—- - STANDARD
PANEL . []0.0] ]
[3'16.(5)] NOMINAL 053.7
ERO PANEL B o
NOMINAL
SIDE VIEWS 2. PANEL TEMPERATURES CAN INCREASE 3-5°C WITH EACH

VERTICALLY STACKED UNIT.
1. SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE.
NOTES: UNLESS OTHERWISE SPECIFIED.

UNLESS OTHERWISE SPECIFIED ENGR BY

DIMENSIONS ARE IN MILLIMETERS [INCHES]. PLANAR SYSTEMS INC

TOLERANCES: PRAVNEY MAZ 05JAN16 P L A N A R 1195 NW COMPTON DRIVE
_ BEAVERTON, OR 97006 USA

CHECKED BY

X= 1 XX= +.25
X £9 e " CLARITY MATRIX MX55HDX-P
DIMENSIOBX§3|?$?4T5CK/|LE§Q‘NCING PER PRODUCT OUTL'NE

THIRD ANGLE PROJECTION
SIZE PART NO.

FINISH D

DRAWING NO. REV

HDXS55P Outline

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO PLANAR SYSTEMS, INC., ANY REPRODUCTION IN PART OR WHOLE WITHOUT THE WRITTEN PERMISSION OF PLANAR SYSTEMS

SCALE

IS PROHIBITED. THIS DRAWING IS SUPPLIED FOR INFORMATION, IDENTIFICATION, ENGINEERING, EVALUATION, AND/OR INSPECTION PURPOSES ONLY AND MAY NOT BE USED AS BASIS 1 . 1 O DO NOT SCALE 1 OF 7
FOR THE MANUFACTURING OF PRODUCTS OR THE FURNISHING OF SERVICES TO PLANAR SYSTEMS OR TO ANY THIRD PARTY UNLESS AUTHORIZED IN WRITING BY PLANAR SYSTEMS. .

3 2 1



050-0218-00 REV B

SERVICE MODE
HANGER TABS —

& 7c_ Lo/ o]\

AND

CABLE ROUTE
FEATURES

5. WALL DIMESIONS (mm/in)
ROWS|COLUMNS|  HEIGHT WIDTH DIAGONAL
2 2 2424.8| 95.46| 1366.4| 53.80[ 2783.3] 109.58
2 3 2424.8| 95.46] 2050.3] 80.72| 3175.4] 125.02
3 3 3637.9]143.22[ 2050.3| 80.72| 4175.9] 164.41
3 4 3637.9| 143.22| 2734.2| 107.65| 4550.8] 179.17
4 4 4851.0[ 190.98| 2734.2[ 107.65] 5568.5] 219.23
5 5 6064.1] 238.74] 3418.1| 134.57| 6961.1| 274.06
4. ITIS RECOMMENDED THAT FOR FLUSH MOUNT WALLS, A

MINIMUM OF 13mm (0.5") GAP BE LEFT AT THE SIDES AND A
MINIMUM OF 25mm (1.0") GAP BE LEFT AT THE BOTTOM. SEE
PAGE ONE FOR TOP GAP RECOMMENDATIONS.

3. ITIS RECOMMENDED THAT A MINIMUM OF 5 FEET OF CABLE IS
AVAILABLE FOR PANELS NEXT TO THE CONDUIT OPENING. MORE
WILL BE NEEDED FOR PANELS FARTHER AWAY.

2. ENSURE THE LCD MOUNTS ARE MOUNTED FLAT, LEVEL AND

1.

PLUMB.
SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE.

NOTES: UNLESS OTHERWISE SPECIFIED.

UNLESS OTHERWISE SPECIFIED ENGR BY

DIMENSIONS ARE IN MILLIMETERS [INCHES].

DRAWN BY

TOLERANCES:

CHECKED BY

X= #1 XX= +.25
USED ON
X= %5 L= %1°
DIMENSIONING AND TOLERANCING PER
ASME Y14.5M-1994
THIRD ANGLE PROJECTION

MATERIAL

FINISH

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO PLANAR SYSTEMS, INC., ANY REPRODUCTION IN PART OR WHOLE WITHOUT THE WRITTEN PERMISSION OF PLANAR SYSTEMS
IS PROHIBITED. THIS DRAWING IS SUPPLIED FOR INFORMATION, IDENTIFICATION, ENGINEERING, EVALUATION, AND/OR INSPECTION PURPOSES ONLY AND MAY NOT BE USED AS BASIS
FOR THE MANUFACTURING OF PRODUCTS OR THE FURNISHING OF SERVICES TO PLANAR SYSTEMS OR TO ANY THIRD PARTY UNLESS AUTHORIZED IN WRITING BY PLANAR SYSTEMS.

S 4
[53.80]
1366.4
|- [.05]
1.4
[26.38] _ [1.26]
670.0 32.0 HORIZONTAL ALIGNMENT
BRACKETS. USE M5X8
MOUNT HOLES FOR
[2-364] BUTTON HEAD SCREWS LS Rk s
: AND WASHERS
A
[°] 0 | 1| [T | []
8.3] ]? Al C.:[og . L I%] (E[
211.0 ¥
) 9| | e @ \
\
I
/DISPLAY OUTLINE
f‘ 
[19.69] i
500.0 RECOMMENDED LOCATION
FOR CABLE INGRESS BETWEEN
PANEL COLUMNS
1
[47.76]
1213.1
q | 'RIEW: .
© Cll__ e Qa1 I D] o O Cll___I¢ QO O] O
[.05] _ VERTICAL ALIGNMENT
1.4 ] ° dRER » . BRACKETS. USE M5X8
B nEEE = BUTTON HEAD SCREWS
[95.47 ]
2424.8 g CHI I o
° I L ° ° I L °
D — ] P — G D — L[ Td — G
o) 5 | e S I
7
41.81]
[36.00] [
o144 1062.1
q | { B 4\ .
- e — 1
@ ['_ll_l|: g D @ @ D 0 D ©
1 TEEI\ < : l
1 T i \ - ’
[1.30] - [24.20] -
33.0 614.7 [ 88]
KICKSTAND FOR 22.4
- [26.93] N SERVICE MODE CENTERING NOTCH
B 683.9 B
S 4

3

PLANAR SYSTEMS, INC.

PLANAR  :snwcowetoNbrive
_ BEAVERTON, OR 97006 USA

MAZ 05JAN16

HDX " CLARITY MATRIX MX55HDX-P
2X2 MOUNT BRACKET LAYOUT

DRAWING NO. REV

HDX55P Qutline

SHEET
1:5 DO NOT SCALE 20F7

SIZE PART NO.

SCALE




050-0218-00 REV B

|

7 6 5 3
- [80.72] _
2050.3
[.05]
NOMINAL
[.96] - [26.28] _ [1.26]
24.4 _l 667.4 32.0
I B
{ f ° " [] 7 | [°1 0 [] I
D —_ —_ d —_ —_ d|p — — d
8.29 LT LT _ 8 , MOUNT HOLES FOR
[210,7] (e ° DGR =) " #174-20 OR M6 BOLTS
) ) S | [© ol AND WASHERS
| v 7
DISPLAY OUTLINE
| /
[19.69]
500.0
, % % RECOMMENDED LOCATION
B FOR CABLE INGRESS BETWEEN
PANEL COLUMNS
4] q ) ) q
| A | 1 ( )
@ 0 D o D @ @ o D o| D @ @ (o]l 1D D @
[.05] oI eI oI el el 19
[9547] ]4 ] © ° [Foltlec]l © o [Fo 1ol © e [l
24248 ] NOMINAL B e e of
VERTICAL ALIGNMENT
o of | [e ol I1e o /BRACKETS. USE M5X8 [93.62]
' | j ] [ s BUTTON HEAD SCREWS 2378.0
\ | | - | |
o I L o [ I _/h/ (-] -] I " -]
— — — — — d
[o—.,[,) [ T°d G o.]:,) A GWD 5 I
9 9 | [© S | [© ®
%% %
Z,
a7 4
4‘ [ ) ) q
© .I I. .I I. © @ ) .I I. @ @ .I I. .I I. @
<N o e o \ 'y N2EH F
o] o] o] \ o] o] o] l Y
Y
UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN MILLIMETERS [INCHES].
sKlE%\S?cT:?'\IMDcngR CENTERING NOTCH [.88]
22.4
: X= 1 XX= %.25
X= %5 L= %1°
DIMENSIONING AND TOLERANCING PER
ASME Y14.5M-1994
THIRD ANGLE PROJECTION
7 6 5 3

4. ITIS RECOMMENDED THAT FOR FLUSH MOUNT WALLS, A
MINIMUM OF 13mm (0.5") GAP BE LEFT AT THE SIDES AND A
MINIMUM OF 25mm (1.0") GAP BE LEFT AT THE BOTTOM. SEE
PAGE ONE FOR TOP GAP RECOMMENDATIONS.

3. ITIS RECOMMENDED THAT A MINIMUM OF 5 FEET OF CABLE IS
AVAILABLE FOR PANELS NEXT TO THE CONDUIT OPENING. MORE
WILL BE NEEDED FOR PANELS FARTHER AWAY.

2. ENSURE THE LCD MOUNTS ARE MOUNTED FLAT, LEVEL AND
PLUMB.

1. SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE.
NOTES: UNLESS OTHERWISE SPECIFIED.

ENGR BY

DRAWN BY MAZ 05JAN16 P L A N A R

CHECKED BY

PLANAR SYSTEMS, INC.
1195 NW COMPTON DRIVE
BEAVERTON, OR 97006 USA

S o " CLARITY MATRIX MX55HDX-P
3X2 MOUNT BRACKET LAYOUT

D - HDX55P Outline

s DONOTSCALE ' 30F7



050-0218-00 REV B

6 5 4 3
- [80.72] _
2050.3
[.05]
NOMINAL
. [26.28] _ [1.26]
l 667 .4 32.0
A ‘ s MOUNT HOLES FOR
: DE"—[} ) #1/4-20 OR Mé BOLTS
[8.29] AN A . AN A . A A : AND WASHERS
210.7 - : N
7 7
DISPLAY OUTLINE
[19.69]
500.0
[47.71]
1211.7
Y % %
q | (AR | b
— C — C {— C
AN >;Pﬂ . %‘E H >;E]
’ [ ] o [ ] [ ] [ ]
d 1 4P o QP T
7 7
\\7
[143.23]
3637.9 il
RECOMMENDED LOCATION
FOR CABLE INGRESS BETWEEN
/ % PANEL COLUMNS
q k(4 (3K | b
[ O 5] ;[11 © [ al I0) yﬂ al 12 al i) yﬁ [. al I0] yﬂ
].4 [ ] o [ ] [ ] [ ] [ ]
NOMINAL HN HotH Ha:H P VERTICAL ALIGNMENT
. J 1L . . BRACKETS. USE M5X8
BUTTON HEAD SCREWS
! OO I |B /u/ e 1 -
LI, o . LI o R T
5 oI T o T le 5
4 4
q k(4 (3B | 3
@Hﬁ >ﬂr=@ : S jﬁ;@ : >H;B
| ] L (LR UL I
MKICKSTAND FOR CENTERING NOTCH
SERVICE MODE
6 5 4 3

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN MILLIMETERS [INCHES].

TOLERANCES:
X= #1 XX= +.25

X= %5 L= %1°

DIMENSIONING AND TOLERANCING PER
ASME Y14.5M-1994

THIRD ANGLE PROJECTION

4. ITIS RECOMMENDED THAT FOR FLUSH MOUNT WALLS, A
MINIMUM OF 13mm (0.5") GAP BE LEFT AT THE SIDES AND A
MINIMUM OF 25mm (1.0") GAP BE LEFT AT THE BOTTOM. SEE
PAGE ONE FOR TOP GAP RECOMMENDATIONS.

3. ITIS RECOMMENDED THAT A MINIMUM OF 5 FEET OF CABLE IS
AVAILABLE FOR PANELS NEXT TO THE CONDUIT OPENING. MORE
WILL BE NEEDED FOR PANELS FARTHER AWAY.

2. ENSURE THE LCD MOUNTS ARE MOUNTED FLAT, LEVEL AND
PLUMB.

1. SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE.
NOTES: UNLESS OTHERWISE SPECIFIED.

ENGR BY
PLANAR SYSTEMS, INC.

PRAVNEY MAZ 05JAN16 PL A N A R 1195 NW COMPTON DRIVE
_ BEAVERTON, OR 97006 USA

CHECKED BY

S o " CLARITY MATRIX MX55HDX-P
3X3 MOUNT BRACKET LAYOUT

D - HDX55P Outline

s DONOTSCALE ' 40F7



050-0218-00 REV B

6 5
- [53.86] _
1368.0
o [0¢]
1.6
[26.38] [1.26] HORIZONTAL ALIGNMENT
- $70.0 - 350 BRACKETS. USE M5X8 MOUNT HOLES FOR
- - BUTTON HEAD SCREWS #1/4-20 OR M6 BOLTS
[.97] AND WASHERS
24.8 _l
I B
f l?" (| [} "?’ (| [} "?’
8.31] [;.,]:,) - A - d - LT - (,j@
211.0 %
© © ®
I
/DISPLAY OUTLINE
[19.69]
500.0
Y
[47.79]
1214.0
RECOMMENDED LOCATION
FOR CABLE INGRESS BETWEEN
PANEL COLUMNS
) q
—
@ .I I. .I I. @ @ .I I. U UJ @
[.06] _ VERTICAL ALIGNMENT
1.6 CR IR °B) BRACKETS. USE M5X8
[ | n =T N BUTTON HEAD SCREWS
95.53
2426 .4 I i | 2]
s Mo -
D d|p d
[(?“I o m L] L] L3 E:]
o) el | o 5 I
[41.83]
[gffg] 1062.4
) q ’
N — ] Y
o) el QI D)] o) 0 D QI D)] @)
i H3CH < H2
' T 1T \ - :
3] . [24.20] _
KICKSTAND FOR 22.8
- [26.96] N SERVICE MODE CENTERING NOTCH
B 684.8 B
6 5

SERVICE MODE

CABLE ROUTE
FEATURES

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO PLANAR SYSTEMS, INC., ANY REPRODUCTION IN PART OR WHOLE WITHOUT THE WRITTEN PERMISSION OF PLANAR SYSTEMS
IS PROHIBITED. THIS DRAWING IS SUPPLIED FOR INFORMATION, IDENTIFICATION, ENGINEERING, EVALUATION, AND/OR INSPECTION PURPOSES ONLY AND MAY NOT BE USED AS BASIS
FOR THE MANUFACTURING OF PRODUCTS OR THE FURNISHING OF SERVICES TO PLANAR SYSTEMS OR TO ANY THIRD PARTY UNLESS AUTHORIZED IN WRITING BY PLANAR SYSTEMS.

3

HANGER TABST

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN MILLIMETERS [INCHES].

X= %5

TOLERANCES:
XX= +.25
L= %1°

& 7> [/

DIMENSIONING AND TOLERANCING PER

ASME Y14.5M-1994

THIRD ANGLE PROJECTION

2 1
S. WALL DIMESIONS (mm/in)
ROWS | COLUMNS HEIGHT WIDTH DIAGONAL
2 2 2426.4| 95.53| 1368.0| 53.86|2785.5| 109.66
2 3 2426.4| 95.53|2052.8| 80.82|3178.3| 125.13
3 3 3640.4| 143.32| 2052.8| 80.82| 4179.3| 164.54
3 4 3640.4| 143.32| 2737.6| 107.78| 4554.9| 179.33
4 4 4854.4| 191.12| 2737.6| 107.78| 5573.1| 219.41
5 5 6068.4| 238.91| 3422.4| 134.74| 6966.9| 274.29

4. ITIS RECOMMENDED THAT FOR FLUSH MOUNT WALLS, A
MINIMUM OF 13mm (0.5") GAP BE LEFT AT THE SIDES AND A
MINIMUM OF 25mm (1.0") GAP BE LEFT AT THE BOTTOM. SEE
PAGE ONE FOR TOP GAP RECOMMENDATIONS.

3. ITIS RECOMMENDED THAT A MINIMUM OF 5 FEET OF CABLE IS
AVAILABLE FOR PANELS NEXT TO THE CONDUIT OPENING. MORE
WILL BE NEEDED FOR PANELS FARTHER AWAY.

2. ENSURE THE LCD MOUNTS ARE MOUNTED FLAT, LEVEL AND
PLUMB.

1. SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE.
NOTES: UNLESS OTHERWISE SPECIFIED.

ENGR BY
PLANAR SYSTEMS, INC.

PRAWNEY MAZ 05JAN16 PL A N A R 1195 NW COMPTON DRIVE
_ BEAVERTON, OR 97006 USA

CHECKED BY

S o " _CLARITY MATRIX MX55HDX-P
ERO MOUNT BRACKET LAYOUT
D - HDX55P Outline

SCALE

SHEET
1:5 DO NOT SCALE 50F7



050-0218-00 REV B

TRIM INSTALLATION

TOP TRIM

[47.70]
1211.7
/ LEFT TRIM
e
>
]
LEFT TRM [47'70]
/ . 1211.7
RIGHT TRIM
]
RIGHT TRIM
e
BOTTOM TRIM
TOP TRIM BOTTOM TRIM
1 N, I Y
i) Bl
gg B \ UUUU \m\
0 °
ol ol
Bodo e 0l0 1)
Bodo i olo W
ol [ olo T
Bodo it 000 il
oo? g ol e
ol iy olo W
i w A
000 1] 000 htt
0olp ! ol i
bl [T ol il
20g0 ik 030 Ml
. i . &
0 ] b
00 o 00 [0
d0p0 il oln g
000 1] 0n0 o i
i - i . i
00 et od 2X KNOCKOUTS FOR s
[26.87] oot i [26.87] f USE WITH COLUMN o
0% 0
682.5 o i 682.5 i STANDS it
070 [T 000 o ha
. R . i
000 ! ¢ oo [
ot i o8 it
0 N Mad
o i o i 2. TOP, BOTTOM, LEFT AND RIGHT TRIM ARE 2mm THICK.
0 o I
ol i olo Wl
SBB g}EEg BH EEEEE 1. SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE.
0 [137] hat
00 M 000 !
0 It i .
ol iy olo i
SBB E:gia BH qﬂag NOTES: UNLESS OTHERWISE SPECIFIED.
]
gg B Eﬁ:ﬂ g H ° :uau UNLESS OTHERWISE SPECIFIED ENGRBY
Un 0 ° E.aﬂ ol N DIMENSIONS ARE IN MILLIMETERS [INCHES]. PLANAR SYSTEMS INC
0 \ DRAWN BY ' -
ol (] ] . R
0 () TOLERANCES: MAZ 05JAN16 1195 NW COMPTON DRIVE
i ¢ o0 . P L A N A  BEAVERTON, OR 97006 USA
U HECKED BY ™
a0g8 . 0,0 X= #1 XX= +.25
| = " X 29 gear T HOX ™ CLARITY MATRIX MX55HDX-P
MATERIAL
DO e s od 1 PER TRIM INSTALL OPTIONS
— [ 3.42 ] . -— [ 3 .42 ] THIRD ANGLE PROJECTION
86 .9 86 . 9 — SIZE PART NO. DRAWING NO. ] REV
D - HDX55P Outline
THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO PLANAR SYSTEMS, INC., ANY REPRODUCTION IN PART OR WHOLE WITHOUT THE WRITTEN PERMISSION OF PLANAR SYSTEMS SCALE SHEET
FoR THE MANLPAGTURING OF PROBUGTS OR THE FURMSHING OF SEFVIORS 15 PLANAR SYSHEMS OR T0 ANY THIRD PART UNLEDS AUTHORIZED I WRITING BY PLANAE SYSTENS, 1:10 DO NOT SCALE 6 OF 7

3




050-0218-00 REV B

[ D)

||\_1|1

(Vs

([98.58])

2504.0

ll\_Ju

[54.44] |
1382.7
]
n
*h )
©
\J
{ [3.12]
B 79.2
CUSTOM HEIGHTS
AVAILABLE
o TIE BACKS REQUIRED FOR WALLS EXCEEDING 7 FEET TALL AT THE
1 TOP AND MINIMUM EVERY 7 FEET BEYOND.
~[@ 3. STANDARD MAXIMUM TWO HEIGHT STACK. CONTACT PLANAR
& & ([3.61 ]) _ 1699] 2l i FOR CUSTOM OPTIONS FOR ADDITIONAL ROWS.
91.8 - : O
g | g 431.5 gg | | 2. ADDITIONAL CUSTOM ACCESSORIES. CONTACT PLANAR
1| o [ o—————————"C"| 0|} i A Z@ ®e @Z SoYSTE('EA,AS\STERS
e} ®¢———————————————————————————————————————————————————————— @[¢]|} [ONOXROXO] . FLOOR ANCHOR“\IG W|THOUT FEET
| B | T 'g‘ﬂ\ «  CUSTOM LENGTHS
o LEVELING [ | fxsgL]OOR ANCHORS 1. SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE.
27.33 ~
FEET 1,00 B 4943 - ®9.5 HOLE PROVIDED NOTES: UNLESS OTHERWISE SPECIFIED.
[25.84] [1-61 ~.00 ] WITHOUT FLOOR
- 6562 - 41 O+254 ANCHORS Blr\r{ﬂLEEﬁsﬁnggi%vélll?\leﬁEECMlElTEE%s[|NCHES]. PLANAR SYSTEMS. INC
" 00 (29.98] e 2o PLANAR - SRR,
76] 5 X= +1 XX= +.25
- WITH FLOOR - X 25 Zewr T o CLARITY MATRIX MX55HDX-P
ANCHORS DIMENSIONING AND TOLERANCING PER COLUMN STAND
THIRD ANGLE PROJECTION
s D - HDX55P Outline

8 7 6 S} 4 3 2 1



	MAIN OUTLINE
	Drawing View9
	Drawing View10
	Drawing View11
	Drawing View12
	Drawing View13
	Drawing View14
	Drawing View15
	Drawing View17
	Drawing View18

	STANDARD 2X2
	Drawing View22
	Drawing View25

	STANDARD 3x2
	Drawing View26

	STANDARD 3x3
	Drawing View27

	ERO 2x2
	Drawing View29
	Drawing View30

	TRIM OPTIONS
	Drawing View34
	Drawing View35
	Drawing View36
	Drawing View37
	Drawing View38
	Drawing View39
	Drawing View40
	Drawing View42
	Drawing View43

	COLUMN STAND
	Drawing View45
	Drawing View46
	Drawing View47


